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Dialogue 1

Answer questions 1 to 3

Question 1

Controller informed about ...

1. departure traffic.
2. rescue activities.
3. rough air on the departure course.
4. bird activities.
Question 2

JAS6AE changed its departure runway probably for ...

1. aligning to the wind.

2. avoiding other aircraft.

3. saving time.

4. precaution for bird strike.
Question 3

What was the reason JAS6AE did not takeoff?

Abnormality of the engine instrument.
Brake system failure.

Weather conditions.

Curfew.
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Dialogue 2

Answer questions 4 to 6

Question 4
What was the problem JAS86AE encountered?

Unusual engine parameter.

Abnormality of the flight instrument.
Malfunctioning of the navigational receiver.
Excessive fuel flow.

el

Question 5

What was reported by JAS86AE on the runway?

Obstruction.

Bird activities.

Runway cracks.

Damage of the lighting system.

i

Question 6
Probably, the controller had dispatched ...

a towing truck.

a police car.

an operation's car.
an ambulance.

PO



Dialogue 3

Answer questions 7 to 9

Question 7

The information provided by the controller was about ...

1. rough air conditions reported by arrival aircraft.
2. possible encounter to the turbulence.
3. from the preceding departure.
4. aircraft in the traffic pattern.
Question 8

Controller canceled takeoff clearance because of ...

1. acontainer on the runway.
2. the separation between the traffic.
3. aground vehicle.
4. an animal.
Question 9

Controller would have arranged to send ...

a towing car.
a fire engine.
a bird patrol.
an operation‘s car.
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Dialogue 4

Answer questions 10 to 12

Question 10

JAS6AE was making air turn back because of ...

1. tail strike.

2. bird strike.

3. engine trouble.

4. passenger sickness.
Question 11

JAS6AE exercised holding over RIVER MOUTH because of ...

1. runway closure.

2. controller’s instruction.

3. preparation for landing.

4. another traffic.
Question 12

Probably, JAS6AE would have ...

1. declared an emergency.

2. requested radar navigational guidance.
3. reported over RIVER MOUTH.

4. made a belly landing.



Dialogue 5

Answer questions 13 to 15

Question 13
JAS6AE was making air turn back because of ...

landing gear trouble.
abnormality of the wing surface.
jammed flight control.
encountered turbulence.
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Question 14

JAS6AE requested ground supports preparing for ...

1. belly landing.
2. emergency landing.
3. steering system failure.
4. engine fire.
Question 15

JAS6AE would have proceeded to ...

1. overhead the airport.

2. avvisual reporting point.
3. the right downwind.

4. the left downwind.



Dialogue 6

Answer questions 16 to 18.

Question 16

The problem that the pilot reported was ...

1. acargo area fume.

2. an engine trouble.

3. ahydraulic failure.

4. smoke in the cabin.
Question 17

The cause of problem that the pilot suspected was ...

a fire from the cargo.

a malfunction of the warning system.
a smoke from the cabin.

a smoke from the engine.

PO

Question 18

The controller reported the traffic information. The traffic was ...

moving southwest, altitude 10,000 ft.
moving southwest, altitude unknown.
moving northwest, altitude unknown.
moving northwest, altitude 10,000 ft.
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Dialogue 7

Answer questions 19 to 21.

Question 19

The pilot changed his original flight plan due to ...

CB ahead of him.
system trouble.
shortage of fuel.
traffic nearby.
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Question 20

Finally, where was the destination airport of JA123G ?

1. YAO airport.

2. TAKAMATSU airport.

3. WAKAYAMA airport.

4. TOKUSHIMA airport.
Question 21

The traffic was reported at ...

1. 15 nm southeast and below.
2. 15 nm southeast and above.
3. 10 nm southeast and below.
4. 10 nm southeast and above.



Dialogue 8

Answer questions 22 to 24.

Question 22

Hakodate runway was closed due to ...

1. a possibility of explosion.

2. an aircraft accident.

3. heavy snow.

4. a crack of runway surface.
Question 23

JA123G requested to reduce speed due to ...

1. arrival time constraint.

2. saving the fuel.

3. traffic separation.

4. ride condition.
Question 24

The pilot requested to change the assigned heading due to ...

traffic.

icing condition.

cloud condition.
adjusting the arrival time.
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Dialogue 9

Answer questions 25 to 27.

Question 25
The pilot made an emergency descend due to ...

rapid depressurization.
compressor stall.
wounded passenger.
cockpit smoke.
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Question 26
Initially, JA82BJ was located at ...

12 o'clock 10 nm of JA123G.
9 o'clock 10 nm of JA123G.
12 o'clock 5 nm of JA123G.
9 o'clock 5 nm of JA123G.

PO

Question 27
The pilot changed the destination because of ...

passenger handling.
aircraft handling.

poor maintenance support.
bad weather.
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Dialogue 10

Answer questions 28 to 30

Question 28

Runway in use and QNH at Okayama airport were ...

1. runway 25 and QNH 2998.

2. runway 07 and QNH 2998.

3. runway 25 and QNH 2989.

4. runway 07 and QNH 2989.
Question 29

What was the reason of the holding?

1. Due to weather conditions.

2. Due to an arrival aircraft.

3. To wait for an ATC authorization.

4. Due to landing preparation.
Question 30

JAS6AE climbed to 3,000ft ...

in order to maintain VMC.
due to a conflicting aircraft.
considering ride conditions.
due to terrain clearance.
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Dialogue 11

Answer questions 31 to 33

Question 31

What was the first information provided by ATC?

1. Weather conditions of the alternate airport.

2. A part of the approach lights was out of service.

3. All the approach lights were out of service.

4. Some sort of cautionary sign was indicated.
Question 32

JAS6AE initiated a go-around because ...

1. of runway inspection due to bird strike.

2. it was instructed by ATC.

3. essential lights are partly invisible.

4. an obstacle was reported on the runway.
Question 33

The pilot intended to ...

1. divert to another airport without holding.

2. divert to another airport after holding.

3. hold until the runway was open.

4. commence another approach immediately.



Dialogue 12

Answer questions 34 to 36

Question 34

The pilot requested an emergency landing due to ...

critical engine condition.
critical fuel condition.
pilot incapacitation.
engine surging.

bl S

Question 35

The controller would have dispatched ...

a towing truck.
medical staff.
fire fighters.
police officers.

PO

Question 36

The landing clearance would have been issued ...

after a helicopter landed.

after a departure aircraft was rolling.

when an arrival aircraft vacated the runway.
when the controller was not so busy.
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Dialogue 13

Answer questions 37 to 39

Question 37

The informed traffic was flying to the ...

west on the west of the airport.
east on the west of the airport.
west on the east of the airport.
east on the east of the airport.
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Question 38

The pilot reported the problem ...

1. over MIBAL

2. at five miles to MIBAL

3. over UTIMA.

4. at five miles to UTIMA.
Question 39

The problem was with the...

1. landing gear system.

2. lighting system.

3. hydraulic system.

4. fuel transferring system.



Dialogue 14

Answer questions 40 to 42

Question 40

What was the nature of trouble of JAS6AE?

1. Engine fire.

2. Engine failure.

3. Hydraulic leak.

4. Smoke in the fight deck.
Question 41

The controller probably sent ...

1. fire engines.

2. towing trucks.

3. operation's vehicles.

4. ambulances.
Question 42

JA82BJ decided to divert probably ...

ATC recommended it.

the company ordered.

by his judgment.

weather conditions were worsened.
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